
melql `fc=kljbk`i^qrob ifk `ljjlkiv=`^iiba `e^o^`qbopfqf`p

_lav=^ojlo=co^d ^VONQR co^d=sbpqI=ci^h=sbpq =

_^d=_^oo^`hp _NPVMT
_^oo^`hp=_^dI=i^rkaov=
_^d la=`lqqlk=_^dI=pqofkd=`ilprob

_^d=arccbi= _NQTOV= arccbi=_^d kvilk=_^d=tL=doljjbq=`ilprobI=pelriabo=pqo^mp

_^d=`iqefkd=tqomollc= _NRUOR= t^qbo=mollc=_^d or__bofwba=kvilk=_^dI=pqofkd=`ilprob

_lav=^ojlo=lqs _OUNOP lrqbo=q^`qf`^i=sbpq

rkfsbop^i=E^`rF=`^jlrci^rdbK=fk`irabp=qeb
_^pb=sbpq=`^oofboI==vlhb=^ka=`lii^o=^ppvI=
qeol^q=molqb`qloI=dolfk=molqb`qloI=^ka=
^ii=_^iifpqf`=fkpboqpK==albp=klq=fk`irab=bp^_f
Eclojboiv=ifkX=a^TMUVF

_biq=fka= _RVRST= mfpqli=_biq
O=mlppf_ib=qvmbp=`ilprobp=clo=qefp=ifkI=
kljbk`i^qrob=^ka=kpk=afccbobkqf^qb==

_bobqI=j^kp=j^ollk _SORTQ ^fo_lokb=_bobq
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melql `fc=kljbk`i^qrob ifk `ljjlkiv=`^iiba `e^o^`qbopfqf`p

ofddbo=_biq _VMPQP ofddbop=_biq fpprba=fk=q^k=^ka=_i^`h

`^mI=hkfq `MQMMM t^q`e=`^m tlliLhkfqqbaI=_irb=PPQS=E^mmb^op=_i^`hF

`^mI=`^jlrci^db=m^qq `MQQNN abpboq=_ar=`^m

_llqp=uL`ia=tqeo= `MUORS= s_=_llqpI=_rkkv=_llqp tefqbI=or__bo=tL=s^isb=^q=^khib

_llqp=u`t=`qk=ar`h= `MUOTQ= jrhir`hp
or__bo=plibI=`^ks^p=rmmboIrpbp=?pl`hp=b`t?=ifk=
vvNTNR

`l^q=^`r `NMPQR ^`r=qlm =

`^oofbo=t^qbo=`^kqbbk `NMURN
`lia=tb^qebo=`^kqbbk
`lsbo rpba=tfqe=?`^kqbbk=t^qbo=`liaI=ifk=`VSVOP?
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melql `fc=kljbk`i^qrob ifk `ljjlkiv=`^iiba `e^o^`qbopfqf`p

`^oofbo=^ppj_iv=rk `NNQMU

`^oofbo=^ppbj_iv=fk`irabp=qeb=`ilqe=`^jlrci^dba=
`^oofbo=^ka=qeb=plcq=_^iifpqf`=fkpboqK=fpprba=^p=^=
pbq

clo=rpb=tfqeqeb=bke^k`ba=pfab=_^iifpqf`=fkpboq=
Ebp^_fF=ifk=gNRPUU

`soI=_lav=^oj=abp `OUMPU abpboq=f_^

abpboq=`^jlrci^db=f_^=`^oofboK=`ilqe=lkivI=kl=
_^iifpqf`
fkpboqp

`lsboI=cfbia=m^`hI=`^ `OUQMQ
abpboq=`^jl=or`hp^`h
`lsbo abpboq=`^jlrci^db=`lsbo=clo=or`h=p^`h

`lsboI=ebijbq=`^jlrc `OUQTO ^`e=`lsbo
rkfsbo^p^i=E^`rF=m^qqbok=`^jl
clojboiv=ifkW=a^NRVV

`lsbo^iip=`s` `PNNUV q^khbo=lsbo^iip `lj_^q=sbef`ib=`obtj^kp=`lsbo^iiI=ci^jb=obq^oa^kq

`lsbo^iip=jb`e^kf` `PPRPU
`^jlrci^db=jb`e^kf`p
lsbo^iip

`lsbo^iip=jk=ld= `PPSMS= jb`e^kf`p=lsbo^iip laI=rkifkbaI=`ilpbp=tL=sbi`ol
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